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QUESTION 1

What are three main areas of the Cisco Security Portfolio? (Choose three.) 

A. Firewalls 

B. Advanced Threat 

C. Cloud Security 

D. Roaming Security 

E. loT Security 

F. Voice and Collaboration 

Correct Answer: BCE 

 

QUESTION 2

In which two ways should companies modernize their security philosophies? (Choose two.) 

A. Reinforce their threat-centric security tactics. 

B. Decrease internal access and reporting 

C. Expand their IT departments. 

D. Rebuild their security portfolios with new solutions 

E. Complement threat-centric tactics with trust-centric methods. 

Correct Answer: AD 

 

QUESTION 3

Which two benefits of flexible purchasing does Cisco provide? (Choose two.) 

A. Simplify the datacenter 

B. Meet immediate needs 

C. Roll out more solutions 

D. Plan for the future 

E. Reduce training needs 

Correct Answer: AE 
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QUESTION 4

Which two products are involved in granting safe access to apps? (Choose two.) 

A. ACI 

B. Identify Services Engine 

C. TrustSec 

D. Duo 

E. SD-Access 

Correct Answer: CE 

 

QUESTION 5

What are two ways that Cisco helps customers balance protection and accessibility? (Choose two ) 

A. Leverage integrated tools and dynamic context to enforce policies 

B. Reinforce device infrastructure with an extensive security portfolio 

C. Provide vital training to ensure a skilled workforce. 

D. Analyze user and device vulnerability. 

E. Manage risk more effectively across the environment. 

Correct Answer: AC 
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